

Functional Equations Characterizing the Tangent Function Over a Convex Polygon II

Charinthip Hengkrawit*

Department of Mathematics and Statistics, Faculty of Science and Technology,
Thammasat University, Rangsit Centre, Klong Nueng, Klong Luang, Pathum Thani 12120

Kanet Ponpetch

Department of Mathematics, Faculty of Science, King Mongkut's Institute of Technology Ladkrabang,
Chalongkrung Road, Ladkrabang, Bangkok 10520

Abstract

The functional equation $f(x) + f(y) + f(z) = f(x)f(y)f(z)$, satisfied by the three angles x, y and z of a non-degenerate triangle, was shown to characterize the tangent function by Benz in 2004. This result has been generalized by the authors to a functional equation, with n parameters representing the angles of a non-degenerate convex n -gon. Here, it is shown that there are other different but similar functional equations characterizing the tangent function.

Keywords: functional equation; tangent function; convex polygon

1. Introduction

Trigonometric functions satisfy a number of identities especially when combined with the angles of a triangle; some of best known are (Hall *et al.*, 1957): If $A + B + C = \pi$, then

$$(1.1) \begin{cases} \sin A + \sin B + \sin C = 4 \cos \frac{A}{2} \cos \frac{B}{2} \cos \frac{C}{2}; \\ \cos A + \cos B + \cos C = 1 + 4 \sin \frac{A}{2} \sin \frac{B}{2} \sin \frac{C}{2}; \\ \tan A + \tan B + \tan C = \tan A \tan B \tan C. \end{cases}$$

among these three identities, (1.1) is simplest and most appealing because it involves only one function. Motivated by (1.1), Davison (2003) showed that the functional equation

$$(1.2) \quad f(x) + f(y) + f(z) = f(x)f(y)f(z),$$

under some conditions, is equivalent to the functional equation $g(x)g(y)g(z) = 1$. Benz (2004), confirming this result of Davison (2003), proved that the general solution of

$$(1.3) \quad f(x) + f(y) + f(z) = f(x)f(y)f(z),$$

with x, y and z being the three angles of a non-degenerate triangle, is the tangent function. Hengkrawit *et al.* (2014) extended this result by showing that the functional equation

$$(1.4) \quad \sum_{i=1}^n f(x_i) = \sum_{M=1}^{\left\lfloor \frac{n-1}{2} \right\rfloor} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n} f(x_{i_1}) \dots f(x_{i_{2M+1}}),$$

characterizes the tangent function, where x_1, x_2, \dots, x_n ($n \geq 3$) represent the angles of a

non-degenerate convex n -gon. There then arises a natural question whether there are other similar yet different functional equations that can be used to characterize the tangent function. This paper answers this question through the following theorem.

Theorem 1.1 Let n be an odd positive integer ≥ 3 . The functions $f : I \rightarrow \mathbb{R} \setminus \{0\}$, $I = (0, \pi)$ satisfying

$$(1.5) \quad \sum_{M=1}^{n-1} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M} \leq n} f\left(\frac{x_{i_1}}{2}\right) \dots f\left(\frac{x_{i_{2M}}}{2}\right) = 1,$$

$x_i \in I$ ($i = 1, \dots, n$), subject to the two conditions

$$(1.6) \quad x_1 + \dots + x_n = (n-2)\pi,$$

$$(1.7) \quad 1 + \sum_{M=1}^{n-1} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} f\left(\frac{x_{i_1}}{2}\right) \dots f\left(\frac{x_{i_{2M}}}{2}\right) \neq 0,$$

are given by $f(x) = \tan\left(k\left(x - \frac{(n-2)\pi}{2n}\right) + \frac{s\pi}{2n}\right)$

($s = 1, 3, \dots, n-2$), where k is a fixed constant

belonging to the range $\max\left\{-\frac{s}{2}, \frac{s-n}{n-2}\right\} < k$

$< \min\left\{\frac{s}{n-2}, \frac{n-s}{2}\right\}$.

Theorem 1.2 Let n be an even positive integer ≥ 4 . The functions $f : I \rightarrow \mathbb{R} \setminus \{0\}$, $I = (0, \pi)$ satisfying

$$(1.8) \quad \sum_{M=0}^{n-2} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n} f\left(\frac{x_{i_1}}{2}\right) \dots f\left(\frac{x_{i_{2M+1}}}{2}\right) = 0,$$

$x_i \in I$ ($i = 1, \dots, n$), subject to the two conditions

$$(1.9) \quad x_1 + \dots + x_n = (n-2)\pi,$$

$$(1.10) \quad 1 + \sum_{M=1}^{n-2} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} f\left(\frac{x_{i_1}}{2}\right) \dots f\left(\frac{x_{i_{2M}}}{2}\right) \neq 0,$$

are given by $f(x) = \tan\left(k\left(x - \frac{(n-2)\pi}{2n}\right) + \frac{\ell\pi}{n}\right)$ ($\ell = 1, 2, \dots,$

$n-1$), where k is a fixed constant belonging

to the range $\max\left\{-\ell, \frac{2\ell-n}{n-2}\right\} < k < \min\left\{\frac{2\ell}{n-2}, \frac{n-2\ell}{2}\right\}$.

The result of Theorem 1.1 is a generalization of

the identity $\tan \frac{B}{2} \tan \frac{C}{2} + \tan \frac{C}{2} \tan \frac{A}{2} + \tan \frac{A}{2} \tan \frac{B}{2} = 1$,

while that of Theorem 1.2 is a generalization of a similar identity for a quadrangle.

2. Two Lemmas

We first prove two lemmas. The first lemma shows that a function with constant sum over the angles of a convex polygon must be a linear function.

Lemma 2.1 Let $n \in \mathbb{N}$, $n \geq 3$, $I_1 = (0, \pi/2)$. If the functions $\phi : I_1 \rightarrow I_1$ satisfy

$$(2.1) \quad \sum_{i=1}^n \phi(x_i) = \frac{s\pi}{2} \quad \text{if } n \text{ is odd}$$

$$(2.2) \quad \sum_{i=1}^n \phi(x_i) = \ell\pi \quad \text{if } n \text{ is even, for}$$

some fixed $s \in \{1, 3, 5, \dots, (n-2)\}$, $\ell \in \{1, 2, 3, \dots, (n-1)\}$

and $x_i \in I_1$ ($i = 1, \dots, n$) satisfying

$$(2.3) \quad \sum_{i=1}^n x_i = \frac{(n-2)\pi}{2}, \text{ then } \phi(x) =$$

$$k_1 \left(x - \frac{(n-2)\pi}{2n}\right) + \frac{s\pi}{2n} \quad \text{if } n \text{ is odd, and } \phi(x) =$$

$$k_2 \left(x - \frac{(n-2)\pi}{2n}\right) + \frac{\ell\pi}{n} \quad \text{if } n \text{ is even, where } k_1$$

and k_2 are fixed constants belonging to the

range $\max\left\{-\frac{s}{2}, \frac{s-n}{n-2}\right\} < k_1 < \min\left\{\frac{s}{n-2}, \frac{n-s}{2}\right\}$

and $\max\left\{-\ell, \frac{2\ell-n}{n-2}\right\} < k_2 < \min\left\{\frac{2\ell}{n-2}, \frac{n-2\ell}{2}\right\}$.

Proof Let $J = (-(n-2)\pi/2n, \pi/n)$. Define

$$\psi: J \rightarrow I_1 \text{ by } \psi(x) = \phi\left(x + \frac{(n-2)\pi}{2n}\right) \quad (x \in J).$$

Observe that if $x \in J$, then $x + \frac{(n-2)\pi}{2n} \in I_1$.

• If n is odd, then from (2.1) and (2.3) we get

$$(2.4) \quad \sum_{i=1}^n \psi(x_i) = \frac{s\pi}{2} \quad (x_i \in J) \text{ subject to}$$

$$\sum_{i=1}^n x_i = 0. \text{ Putting } x_i = 0 \quad (i = 1, \dots, n) \text{ in (2.4),}$$

we have

$$(2.5) \quad \psi(0) = \frac{s\pi}{2n}. \text{ Let } H = \left(-\pi/n, \pi/n\right),$$

we see that $x \in H$, and so $-x \in H$. Thus, (2.4)

$$\text{gives } \sum_{i=1}^{n-2} \psi(0) + \psi(x) + \psi(-x) = \frac{s\pi}{2} \quad (x \in H).$$

Combining this last relation with (2.5), we get

$$(2.6) \quad \psi(-x) = \frac{s\pi}{n} - \psi(x) \quad (x \in H). \text{ Next,}$$

let $x, y \in H$ be such that $x + y \in H$. Thus,

$$(2.4) \text{ gives } \sum_{i=1}^{n-3} \psi(0) + \psi(x) + \psi(y) + \psi(-(x+y)) = \frac{s\pi}{2} \quad (x, y, x+y \in H). \text{ Combining this with}$$

(2.5) and (2.6), we have

$$(2.7) \quad \psi(x+y) = \psi(x) + \psi(y) - \frac{s\pi}{2n}$$

$(x, y, x+y \in H)$. Taking $x \in \left(-(n-2)\pi/2n, -\pi/n\right]$,

$y \in [0, \pi/n)$ with $x+y \in \left(-\pi/n, 0\right)$, since

$-(x+y) \in (0, \pi/n)$, the relation (2.4) gives

$$\sum_{i=1}^{n-3} \psi(0) + \psi(x) + \psi(y) + \psi(-(x+y)) = \frac{s\pi}{2}. \text{ Using}$$

(2.5) and (2.6), we have

$$(2.8) \quad \psi(x) = \psi(x+y) - \psi(y) + \frac{s\pi}{2n}, \text{ for}$$

$x \in \left(-(n-2)\pi/2n, -\pi/n\right]$, $y \in [0, \pi/n)$ with

$x+y \in \left(-\pi/n, 0\right)$. The relations (2.5), (2.6),

(2.7) and (2.8) suggest that the function ψ can

be transformed into an additive function. To

verify this, define $\beta: J \rightarrow \left(-s\pi/2n, (n-s)\pi/2n\right)$ by

$$(2.9) \quad \beta(x) = \psi(x) - \frac{s\pi}{2n} \quad (x \in J). \text{ From (2.5)}$$

and (2.9), we get

$$(2.10) \quad \beta(0) = 0. \text{ From (2.6) and (2.9),}$$

we get

$$(2.11) \quad \beta(-x) = -\beta(x) \quad (x \in H). \text{ From (2.7)}$$

and (2.9), we get

$$(2.12) \quad \beta(x+y) = \beta(x) + \beta(y) \quad (x, y, x+y \in H).$$

By Remark 1.73 of (Kannappan, 2009, p. 57),

there exists a unique additive function $A: \mathbb{R} \rightarrow \mathbb{R}$

satisfying (2.12) over \mathbb{R} , which is an extension

of β , viz, $A|_H = \beta$. Since A is bounded on

H , by (Aczel et al., 1989, Corollary 5 on p.

15), we have $A(x) = k_1 x$ ($x \in \mathbb{R}$), for some

constant k_1 , and consequently,

$$(2.13) \quad \beta(x) = k_1 x \quad (x \in H). \text{ From (2.8),}$$

(2.9) and (2.13), for $x \in \left(-(n-2)\pi/2n, -\pi/n\right]$,

$y \in [0, \pi/n)$ with $x+y \in \left(-\pi/n, 0\right)$, we get

$$(2.14) \quad \beta(x) = \beta(x+y) - \beta(y) = k_1(x+y) - k_1 y = k_1 x,$$

which yields $\beta(x) = k_1 x$ ($x \in J$). Since β is

the map from J into $\left(-s\pi/2n, (n-s)\pi/2n\right)$, we

have $\max\left\{-\frac{s}{2}, \frac{s-n}{n-2}\right\} < k_1 < \min\left\{\frac{s}{n-2}, \frac{n-s}{2}\right\}$. By

the definition of β , we have $\psi(x) = k_1 x + \frac{s\pi}{2n}$

$(x \in J)$. By the definition of ψ , we have $\phi(x) =$

$$k_1 \left(x - \frac{(n-2)\pi}{2n}\right) + \frac{s\pi}{2n} \quad (x \in I_1).$$

• If n is even, the desired result follows by a similar proof and is omitted. \square

The second lemma is an identity for the expansion of the tangent function over a convex polygon.

Lemma 2.2 (Hengkrawit *et al.*, 2014, Lemma

2.1) Let $n \in \mathbb{N}$, $n \geq 3$, let $A_1, A_2, \dots, A_{n-1} \in (0, \pi)$,

and let $\sigma_1(n) = \sum_{M=1}^{\left\lfloor \frac{n-1}{2} \right\rfloor} (-1)^M \sum_{1 \leq i_1 < i_2 < \dots < i_{2M} \leq n-1} \tan A_{i_1} \tan A_{i_2} \dots \tan A_{i_{2M}}$,

$\sigma_2(n) = \sum_{M=0}^{\left\lfloor \frac{n-2}{2} \right\rfloor} (-1)^M \sum_{1 \leq i_1 < i_2 < \dots < i_{2M+1} \leq n-1} \tan A_{i_1} \tan A_{i_2} \dots \tan A_{i_{2M+1}}$.

If $1 + \sigma_1(n) \neq 0$, then $\tan(A_1 + \dots + A_{n-1}) = \frac{\sigma_2(n)}{1 + \sigma_1(n)}$.

$$\begin{aligned} 1 &= \sum_{M=1}^{\frac{n-1}{2}} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M} \leq n} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M}}}{2} \right) \right) \\ &= \sum_{M=1}^{\frac{n-1}{2}} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M}}}{2} \right) \right) \\ &\quad + \left[\sum_{M=1}^{\frac{n-1}{2}} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M-1} \leq n-1} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M-1}}}{2} \right) \right) \right] \tan \left(\phi \left(\frac{x_n}{2} \right) \right) \\ &= \sum_{M=1}^{\frac{n-1}{2}} (-1)^{M+1} \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M}}}{2} \right) \right) \\ &\quad + \left[\sum_{M=0}^{\frac{n-3}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n-1} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M+1}}}{2} \right) \right) \right] \tan \left(\phi \left(\frac{x_n}{2} \right) \right), \end{aligned}$$

which yields

$$\frac{\sum_{M=0}^{\frac{n-3}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M+1}}}{2} \right) \right)}{1 + \sum_{M=1}^{\frac{n-1}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan \left(\phi \left(\frac{x_{i_1}}{2} \right) \right) \dots \tan \left(\phi \left(\frac{x_{i_{2M}}}{2} \right) \right)}$$

$$= \frac{1}{\tan \left(\phi \left(\frac{x_n}{2} \right) \right)} = \cot \left(\phi \left(\frac{x_n}{2} \right) \right). \text{ By Lemma 2.2,}$$

we get $\tan \left(\phi \left(\frac{x_1}{2} \right) + \dots + \phi \left(\frac{x_{n-1}}{2} \right) \right) =$

$$\tan \left(\frac{s\pi}{2} - \phi \left(\frac{x_n}{2} \right) \right) (s = 1, 3, \dots, n-2). \text{ Thus,}$$

3. Proof of Theorem 1.1

Let $f : I \rightarrow \mathbb{R} \setminus \{0\}$ satisfy (1.5) subject to the conditions (1.6) and (1.7). For a suitable bijection (to be determined) $\phi : I \rightarrow I$, put

$$(3.1) \quad f(x) = \tan(\phi(x)) (x \in I), \quad \phi : I \rightarrow I.$$

From (1.5), we have

$$\phi \left(\frac{x_1}{2} \right) + \dots + \phi \left(\frac{x_n}{2} \right) = \frac{s\pi}{2} \text{ subject to}$$

$$x_1 + \dots + x_n = (n-2)\pi, \text{ i.e., } \frac{x_1}{2} + \dots + \frac{x_n}{2} = \frac{(n-2)\pi}{2}.$$

By Lemma 2.1, we have

$$\phi \left(\frac{x}{2} \right) = k \left(\frac{x}{2} - \frac{(n-2)\pi}{2n} \right) + \frac{s\pi}{2n} \text{ for some fixed } k$$

belonging to the range $\max \left\{ -\frac{s}{2}, \frac{s-n}{n-2} \right\} < k$

$$< \min \left\{ \frac{s}{n-2}, \frac{n-s}{2} \right\}. \text{ Therefore, } f(x) =$$

$$\tan \left(k \left(x - \frac{(n-2)\pi}{2n} \right) + \frac{s\pi}{2n} \right) (x \in I). \quad \square$$

4. Proof of Theorem 1.2

Let $f: I \rightarrow \mathbb{R} \setminus \{0\}$ satisfy (1.8) subject to the conditions (1.9) and (1.10). For a suitable

bijection (to be determined) $\phi: I \rightarrow I$, put

$$(4.1) \quad f(x) = \tan(\phi(x)) \quad (x \in I), \phi: I \rightarrow I. \text{ From}$$

(1.8), we have

$$\begin{aligned} 0 &= \sum_{M=0}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M+1}}}{2}\right)\right) \\ &= \sum_{M=0}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M+1}}}{2}\right)\right) \\ &\quad + \left[\sum_{M=0}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M}}}{2}\right)\right) \right] \tan\left(\phi\left(\frac{x_n}{2}\right)\right) \\ &= \sum_{M=0}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M+1}}}{2}\right)\right) \\ &\quad + \left[1 + \sum_{M=1}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M}}}{2}\right)\right) \right] \tan\left(\phi\left(\frac{x_n}{2}\right)\right), \end{aligned}$$

which yields

$$\frac{\sum_{M=0}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M+1} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M+1}}}{2}\right)\right)}{1 + \sum_{M=1}^{\frac{n-2}{2}} (-1)^M \sum_{1 \leq i_1 < \dots < i_{2M} \leq n-1} \tan\left(\phi\left(\frac{x_{i_1}}{2}\right)\right) \dots \tan\left(\phi\left(\frac{x_{i_{2M}}}{2}\right)\right)} = -\tan\left(\phi\left(\frac{x_n}{2}\right)\right).$$

By Lemma 2.2, we get

$$\tan\left(\phi\left(\frac{x_1}{2}\right) + \dots + \phi\left(\frac{x_{n-1}}{2}\right)\right) = \tan\left(\ell\pi - \phi\left(\frac{x_n}{2}\right)\right)$$

($\ell = 1, 2, \dots, n-1$). Thus, $\phi\left(\frac{x_1}{2}\right) + \dots + \phi\left(\frac{x_n}{2}\right) = \ell\pi$

subject to $x_1 + \dots + x_n = (n-2)\pi$, i.e., $\frac{x_1}{2} + \dots$

$$+ \frac{x_n}{2} = \frac{(n-2)\pi}{2}. \text{ By Lemma 2.1, we have}$$

$$\phi\left(\frac{x}{2}\right) = k\left(\frac{x}{2} - \frac{(n-2)\pi}{2n}\right) + \frac{\ell\pi}{n} \text{ for some fixed}$$

$$k \text{ belonging to the range } \max\left\{-\ell, \frac{2\ell-n}{n-2}\right\} < k$$

$$< \min\left\{\frac{2\ell}{n-2}, \frac{n-2\ell}{2}\right\}. \text{ Therefore, } f(x) =$$

$$\tan\left(k\left(x - \frac{(n-2)\pi}{2n}\right) + \frac{\ell\pi}{n}\right) \quad (x \in I). \square$$

Example 4.1 To determine the function $f: (0, \pi) \rightarrow \mathbb{R} \setminus \{0\}$ satisfying

$$(4.2) \quad f\left(\frac{x}{2}\right)f\left(\frac{y}{2}\right) + f\left(\frac{x}{2}\right)f\left(\frac{z}{2}\right) + f\left(\frac{y}{2}\right)f\left(\frac{z}{2}\right)$$

$$= 1, \quad (x, y, z \in (0, \pi)), \text{ subject to two conditions}$$

$$x + y + z = \pi, \quad 1 - f\left(\frac{x}{2}\right)f\left(\frac{y}{2}\right) - f\left(\frac{x}{2}\right)f\left(\frac{z}{2}\right) - f\left(\frac{y}{2}\right)f\left(\frac{z}{2}\right) \neq 0,$$

we apply Theorem 1.1 to get $f(x) =$

$$\tan\left(k\left(x - \frac{\pi}{6}\right) + \frac{\pi}{6}\right) \text{ for all } x \in (0, \pi) \text{ and for}$$

some fixed $k \in (-1/2, 1)$. Finally, we have to check the validity of the solution so obtained.

If $f(x) = \tan\left(k\left(x - \frac{\pi}{6}\right) + \frac{\pi}{6}\right)$, then

$$\begin{aligned}
 & f\left(\frac{x}{2}\right)f\left(\frac{y}{2}\right)+f\left(\frac{x}{2}\right)f\left(\frac{z}{2}\right)+f\left(\frac{y}{2}\right)f\left(\frac{z}{2}\right) \\
 &= \tan\left(k\left(\frac{x}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)\tan\left(k\left(\frac{y}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right) \\
 &\quad + \tan\left(k\left(\frac{x}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)\tan\left(k\left(\frac{z}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right) \\
 &\quad + \tan\left(k\left(\frac{y}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)\tan\left(k\left(\frac{z}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right) \\
 &= \tan\left(k\left(\frac{x}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)\tan\left(k\left(\frac{y}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right) \\
 &\quad + \tan\left(k\left(\frac{z}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right) \cdot \\
 &\quad \left[\tan\left(k\left(\frac{x}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)+\tan\left(k\left(\frac{y}{2}-\frac{\pi}{6}\right)+\frac{\pi}{6}\right)\right]
 \end{aligned}$$

= 1.

Hence, the solution of the functional equation

$$(4.2) \text{ is } f(x) = \tan\left(k\left(x - \frac{\pi}{6}\right) + \frac{\pi}{6}\right).$$

5. Conclusion and Discussion

Two functional equations that can be used to characterize the tangent function over a convex polygon are solved. The results so obtained contained most well-known identities about the tangent function over a triangle. An interesting problem, which seems totally nontrivial, is to ask for functional equations that can be used to characterize other trigonometric

functions over a convex polygon.

6. Acknowledgement

The authors gratefully acknowledge the financial support provided by Thammasat University Research Fund under the TU Research Scholar, Contract No. 2/11/2557.

7. References

- Aczel, J. and Dhombres, J., 1989, Functional equations in several variable, Cambridge University Press, U.K.
- Benz, W., 2004, Short Communication, The functional equation $f(x)+f(y)+f(z)=f(x)f(y)f(z)$, Aequat. Math. 68: 117-120.
- Davison, T., 2003, Report of meeting: The fortieth international symposium on functional equations, Aequat. Math. 65: 292.
- Hall, H.S. and Knight, S.R., 1957, Elementary Trigonometry, Macmillan, Toronto.
- Hengkrawit, C., Laohakosol, V. and Ponpetch, K., 2014, Functional equations characterizing the tangent function over a convex polygon, Aequat. Math. 88: 201-210.
- Kannappan. P.I., 2009, Functional equations and inequalities with applications, Springer. New York.